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General Instructions : 

(i) All questions are compulsory. 

(ii) This question paper consists of four Sections A, B, C and D. Section A contains 8 
questions of one mark each, Section B is of 10 questions of two marks each, 
Section C is of 9 questions of three marks each and Section D is of 3 questions of 
five marks each. 

(iii) There is no overall choice. However, an internal choice has been provided in one 
question of 2 marks, one question of 3 marks and all the questions of 5 marks 
weightage. A student has to attempt only one of the alternatives in such questions. 

(iv) Wherever necessary, the diagrams drawn should be neat and properly labelled. 

l§'OT-A 

SECTION-A 

1. "3lf ~ q;r ;:w:r mtt m ·$rn;; q;r ~· ~ ~ t 1 

(1 X 8 = 8) 

1 

Write the name of the organism that is referred to as the 'Terror of Bengal'. 

2. $1l if fc:t\'ltti:flt ~ oil(ll'lfo m ~~if ~«1¥iR'1 ~ ~ 'CI1R 'qi«tf&Cfl ~ ~· q;qr 

~t? 1 

What are 'true breeding lines' that are used to study inheritance pattern of traits in 
plants? 

3. w ~ ~ JJCfiR' ctt i:fll~ICfllm ~ ;rrq ~ -m ~ if ~ ~ ~ ~ ~ ~ 
'i:fllWictill! ~· ~~if~~ t I 1 

Name any two types of cells which act as 'Cellular barriers' to provide Innate Immunity 
in humans. 

4. ~ ~ i:fll~ICfllm ~ ~ q;r ;:w:r mtt -m ~ f~GIIfflli DNA 'CfiT ~ m ~ ~ 'G1f;; 

~~~if~mmt, 1 

Mention the type of host cells suitable for the gene guns to introduce an alien DNA. 

1 

How is 'stratification' represented in a forest ecosystem? 

6. ~ ~ # ~ q;f di;{lti{Oj ~ ~ 6IRfu ('sllil<f1~) ~if T.l'ffi \lWrr ctl{ffl t", ~ ~ 
qw-~ ~ ctl{ffl t" I 1 

Give an example of an organism that enters 'diapause' and why. 
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7. ~fu;~~m"ll~~ q;~(6\Cfil ~Cfft ~11q1f~q; ~~TFft~. "a" ~"b" 
cp;rr t -cwerR Cfit ~ t 1 

CfiltJ +Kifft 

I m§tf I 

Identify 'a' and 'b' in the figure given below representing proportionate number of 
major vertebrate taxa. 

VERTEBRATES 

8. ~ 'iH'F~4lts(OI Cf<:IT m ~ Cfitffi t, ~ I 
State the cause of Accelerated Eutrophication. 

~-B 

1 

SECTION- B (2 x 10 = 20) 

9. ~r~~(1 ~an "cfr ~ m-~ "cfr Qt; ~ ~ ~ ~ -q 1WR: q;r ~m-~ ~ Cf<:IT 

mm~t? 2 

Why do algae and fungi shift to sexual mode of reproduction just before the onset of 
adverse conditions ? 

10. 11G{ cfr~ qT $t "cfr-aftq ~ CJmliT -rr:rr ~ tfN Cfft ~ cfr~ ~ ~ ~ I~ 
cfr~ -q "lWU ~ fEtl~ >:it'ictl<Ol ~50% if~ t 

(i) ~*cm'Cfftt~~I<Olnt~~CfiT~~ t 
(ii) ~Tit;~ cfr ~ CfiT ~ ~ I 2 

A cross was carried out between two pea plants showing the contrasting traits of height 
of the plant. The result of the cross showed 50% of parental characters. 
(i) Work out the cross with the help of a Punnett square. 
(ii) Name the type of the cross carried out. 

57/1/1 3 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



11. ~ 1l ~ I &m ABO \Cffi" ~ tliT ~ "W6R" ~ ~ t ? ~ \Cffi" Sf>lWICfilatt cffi" ~ 
tl{~tlif~~~t, ~I 2 

~ 

R"'""fMf49('1 ~ .q wit~ qrc;:ft m-~ fsMifCI~ ~ ~ ~ ";fl1=f ~ I ~ tliT ~-
~dGii!(UI~~ I 

(i) ~XX tliT Off XO ~ ~ 
(ii) ~ zw tlif'ff zz ~~ 
How does the gene 'I' control ABO blood groups in humans? Write the effect the gene 
has on the structure of red blood cells. 

OR 
Write the types of sex-detennination mechanisms the following crosses show. Give an 
example of each type. 
(i) Female XX with Male XO 
(ii) Female ZW with Male ZZ 

12. (i) ~ ~~IRCfi tm ";fl1=f ~ ~ ~ ~ err %" 3'11'1eif~IC6 ~ cfR ~31lli~'S1 ~ 
~ tl6RT "ffir ~ I 

(ii) ~~~ti{W~tl{~~~.qfltf$11~l! I 2 
(i) Name the scientist who suggested that the genetic code should be made of a \ 

combination of three nucleotides. I 
(ii) Explain the basis on which he arrived at this conclusion. 

13. tt<"lWr<fi1l alo:"WiFR tl ~ awwq ~ t, ~ I m ~ m tl ffl ~ ~ ~ ~ t? 2 

State the disadvantage of inbreeding among cattle. How it can be overcome ? 

14. ~ ~ dGii!(Oj tf SQ" fltf$11~1{ %" M ~f*S:CWH ~-s)~'"'#ll('tl Cfil ~ ";fl1=f ~ ~ lFIT I 2 

Explain with the help ofa suitable example the naming of a restriction endonuclease. 

15. ~ ~ ~ ~ fct; t1m~cd!R:4tt qf'i$f-(4Q"*f Cfil ~ ~ dr~~~ fictlt:€6 6RT fW:rr lFIT 

fi~ ~ Sf>)WICfilatt ~ fi DNA Cfil ft!Hi('1R('1 ~ ~ ~ I 2 

State how has Agrobacterium tumifaciens been made a useful cloning vector to transfer 
DNA to plant cells. 

16. ~~ .3Wi f~;of'fs ~ ~ 'JOfA"q "f~fi@l cffi" ~ m-WWr iFft 'rt ~ TT<ft m I 2 

Construct an age pyramid which reflects a stable growth status of human population. 

17. a:mR" ~ tliT 'q1Tf ffl ~ 3ifoRSR1, ~ cffi" .a:fR" ~ JOftlfq'iul ~ mffi t I dGii!(OI tf SQ" 
~em~~~~ 2 

Apart from being part of the food chain, predators play other important roles. Mention 
any two such roles supported by examples. 
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18. DNA~ 1R "f.qqq,ql'( fut• ~ ~ f? ~ ~ ';fllf ~ ~ ~? 2 

How are 'sticky ends' formed on a DNA strand? Why are they so called? 

~-C 

SECTION-C 

19. ~~~~dcsnf-il<:if CfiT ~ ~ ~ m ~ cffit·c:ff.n;rrq fl"'$il~~ I 

Explain any three advantages the seeds offer to angiosperms. 

(3x9= 27) 

3 

20. l=fRCf~~'l:fffift~~~~~';fllf~~~~fl"'$il~~ I 

Name and explain the role of inner and middle walls of the human uterus. 

21. ~~~~~~~~ ~ 'GfTJ€IT~S3TI I ~~;RT~~'I):m~ 

3 

~san 1 ~ ~ ttiT Wrrr CfliT ~ 1 3 

aTeTcfT 

m- ~ ~ ~ ci~ll'lfri'IR ~ TTlt ~ q;p:r ttiT ~q)I~H 1865ll ~ ~. 'tffii ~ 1900 ~~ 
mr 1W-JR GAT~ I ~ q;p:r CfiT ~ ~ ll ~ ~ st, cfR q;roJT ~ I 

A colourblind child is born to a normal couple. Work out a cross to show how it is 
possible. Mention the sex of this child. 

OR 
Mendel published his work on inheritance of characters in 1865, but it remained 
unrecognized till1900. Give three reasons for the delay in accepting his work. 

22. arcfiW ~ CfiT tt ~ ~ \iffi'rT ~ t ~ ~ lOO ~ tt ~ ~ ~ f I 4RDII"'~(C\q ~ 
~ ~ ~ ~ ~ ~f~&:fll( ~ ~ ~ t I WR' ~ ~~~f~q, mt 1R ~ ~ ll 
~~~~ll~ q)l4~"1 ~m:m--ct 3ll4"~m 1 3 

Women are often blamed for producing female children. Consequently, they are ill 
treated and ostracized. How will you address this issue scientifically if you were to 
conduct an awareness programme to highlight the values involved ? 

23. (a) ~ 'l1mf ll ~ ~ ~ aoo1q,fc¥.ft"·l'Fl ~ ~ ttiT ';fllf ~ 1 ~am~ 1'Fl 
~ lJl1CI'ffi ~ wmT lflft ~ ~ 'l1mf ll "dTJTGIT ~ t ? 

(b) f~klf~f~d dlf~q,lll "a", "b" ~ "c" CfiT 1W-JR q;'(" ~ ct CfliT f : 
~ ~ ~ ClftG~ 

1. ~ ~litter (a) 

2. T.fiR.T W:r ~W12 (b) 

~W:I'3 
3. (c) ~mcr-ft wrR~~~ 

~A-4 3 
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(a) Name the tropical sugar cane variety grown in South India. How has it helped in 
improving the sugar cane quality grown in North India ? 

(b) Identify 'a', 'b' and 'c' in the following table: 

No. Crop Variety Insect Pests 

1. Bras sica Pusa Gaurav (a} 

2. Flat bean Pusa Sem 2 (b) 

Pusa Sem 3 

3. (c) Pusa Sawani Shoot and fruit borer 

Pusa A-4 

24. ~ ~ .q ~ CfiWr t-~. ~ferut41 t- wffi q;;f ~ \1ST \ifffiT t ? ~ fcRT ~ ~ ~ 
t"~mtt~~~mc=rrt I 3 

Why are beehives kept in crop field dunng flowering period? Name any two crop fields 
where this is practiced. 

25. RNA &lfoCfl(OI CfiT ~ t' -rnT ~ t' ~ CfiT ~ -4- '1i~ch t" ~ -4- GITtiT ~ -4-~ 
WfiTr ~~14?11 ~? ~14$'11~~ I 

How did the process of RNA interference help to control the nematode from infecting 
roots of tobacco plants ? Explain. 

26. ~~~~q;r~~a:ftt~'m~~t-~~: 

5711/1 

I 
g 

! 
t 

~(t) ~ 

(i) c:m;-(a)~(b)-4-~a:ftt~Cfilm~ 1 

(ii) ~ CfiT 311q~fn CfiT m -4-, ~ ~ -4- ~ ~ m ~em;~~ Cfl1 ~ WfiTr ~ 
~l(lll~lll ? 

(iii) ~CfllX-~tR"~1r:rlta:ftt~~~~~Wr~TPftt ~~~ 
Wrq;f~~l 

6 
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TIME(t) ~ 

(i) Write the status of food and space in the curves (a) and (b). 
(ii) In the absence of predators, which one of the two curves would appropriately 

depict the prey population ? 
(iii) Time has been shown on X-axis and there is a parallel dotted line above it. Give 

the significance of this dotted line. 

27. (i) ~n2!ft~Cfi detti~Cfidl ~ ~ t? ~ ~t-~ .q ~ ~-~ ~ mm t? 
(ii) ~ ~ ~ ~U\!Ift~Cfi detti~Cfidl .q ct<U ~mort, mfurtt I 3 

(i) What is primary productivity ? Why does it vary in different types of eco~ 
systems? 

(ii) State the relation between gross and net primary productivity. 

28. (a) 

(b) 

(a) 

(b) 

(a) 

(b) 

~-D 

SECTION - D (3 x 5 = 15) 

;oo:c:wP6T~'dW'If~•ll"!1<f1 mor~, ~~Q>Cfif~tll~ I ~~~~"''Tffi't? 

3"1t~aan\ill *'~qf{qiif51 ~·*'~~C6T"''t4ifq;a .. ~ 1 5 

~ 

'4'A'SIT .q 41<:HR"'1 "{'!Cfi, ~ cn1 ~ ~ :U¢PI01'l'i"''"'' cn1 'WAT .q ~ ~ ~: ~ 
mt.~~mt? 
'4R€f 3"10'511?14 *' ~ ~ q;r .. ~ ~ ~ ~ ~ ~.m. ~ ~ 
~~C61""'114iCfi"''~ I 

Coconut palm is monoecious, while date palm is dioecious. Why are they so 
called? 

Draw a labelled diagram of sectional view of a mature embryo sac of an 
angiosperm. 

OR 
(a) How is 'oogenesis' markedly different from 'spermatogenesis' with respect to the 

growth till puberty in the humans ? 

571111 

(b) Draw a sectional view of human ovary and label the different follicular stages, 
ovum and Corpus luteum. 
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29. (a) 

(b) 

~~ ~qft fl(;l4ctl ~DNA MM1if~ qft~ fl1i$il~l! I 

~~fthlll .q Cf)J~Ict>l-~ CJft ~ ~ .q ufct1lfo M t ? ~ DNA l'lfo11fn c); ~ 
Cf)l~IC61 ~ '1tf ~ 'ffl ct<IT Wrr ? 5 

~ 

(a) ~~ di'!;I(;'(Oj tt~~q;r'\illq_~~~ fl1i$il~l! I f~Olil"f1 ctft~~ 
~(two key concepts)~ I 

(b) ~ ::fi~\S<tlq(1l1ACJ CJft 'C61t 'ffi;r P:if!~Jtectlq ~~'!,CiT~~~ c); tl'm m q;u:rr 

?:IT I 

(a) Explain the process of DNA replication with the help of a schematic diagram. 
(b) In which phase of the cell cycle does replication occur in Eukaryotes ? What 

would happen if cell-division is not followed after DNA replication ? 
OR 

(a) Explain Darwinian theory of evolution with the help of one suitable example. 
State the two key concepts of the theory. 

(b) Mention any three characteristics of Neanderthal man that lived in near east and 
central Asia. 

30. (a) ~ d1~1fllc6l q;r o:rT1i" ~ ~ ~~lf4Cf)l qft w q;Jlf .q ~ qft %" cf ~mit C61(11<!4lir 

.q ctiftm ~ Cffi' ~ ~ 1R" ~ CR ~ I ~ ctCf>'"t')Cf> c); mT ~c);~ .q ~ 
~m~ctft~~~ 

57/111 

(b) ~m~Wffirln1<f~~t? s 
~ 

(a) ~c);-m1l~~~·~mt 1 wmc);-m.q ·-mt~· ~ 
"illi~~fl" ct<IT ~ f, fl1i$11~l! I . 

(b) ~ Cf)JNict>i-3# 1l ~ ~ 'd"f ~ c);-lf!W q;r o:rT10f" ~ ~ ~ ~ ~ ~ t 
~~~mr~~t, ~ 1 

(c) mft ~ ~ (1Cf);:f1Cf)1 c); o:rT1i" ~ ~ tftctit WIT c); tmt qft ~ .q ~ M t I 

(d) ~ ~ q;f ~c); am c);~ .q ~ a-~2<9i<t1"1 ~ ~ \iffffl t? 
(a) Name the technology that has helped the scientists to propagate on large scale the 

desired crops in short duration. List the steps carried out to propagate the crops by 
the said technique. 

(b) How are somatic hybrids obtained ? 
OR 

(a) Cancer is one of the most dreaded diseases of humans. Explain 'Contact 
inhibition' and 'MetaStasis' with respect to the disease. 

(b) Name the group of genes which have been identified in normal cells that could 
lead to cancer and how they do so ? 

(c) N arne any two techniques which are useful to detect cancers of internal organs. 

(d) Why are cancer patients often given a-interferon as part of the treatment ? 
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